
THEBE
Monteringsanvisning

WELAND ALUMINIUM AB
Björnstorpsvägen 2, SE-342 30  ALVESTA 
Tfn: +46(0)472-445 00



1A

1

1B 1C



2

2

Monteringsanvisning 
expanderbult m10x83. Sida 3

M10x83



3



3

4

4



5

5

6a

M8x12

M8x12

6b



7a

6

7b



8

M10x45

9

M10x45

7



10

M5x20

M6x20

11

8

For belysning 
se neste side



10

Drivmodulen
IP 66 100watt 24V

Armaturinnsats LED  
24V/12,6W

Skjøteledning

Ved kobling. Åpent 
armatur i henhold til siste 
figur

M6x10

9



10

13

12



14

11

15


